b

DO NOT OPEN THE SEAL OF THE BODKLET UNTIL YOU ARE TOLD TO DO SO
w1 gfersT =y ofter 7 e = WTE 979 e SR A W

POST CODE ! Tiet 1L
B2, 4613 BG4, 217114

Timea Allowed : 2 hours
fererifim wom

JDD-63/A0/X-15
Write here Roll number and Answor-Sheel No.
o T e - wen

A

712622

Roll No.J/ #iwas

Answer-Sheet No./ 391 - 1

2 W

TIER-1 mneuuw:mumqnn
feae—1 (amerfirss) ofien

Maximum Marks : 200
siftyas o - 200

Fead the following instructions carefully before you begin fo answer the questions.
Wl & I A | e A o s S e d e

1.

Thin Bookiat contains 200 guesilone in a8 cumpining The
Ielpwing Sactiors

Feefreamit % fem meege stEw
o el 3 e 200w §, Pl reafeigs wm
e -

S1. Ao Tan Componsnts Nov of j Page wara]|  wilyor B T T |y
0 |Goneral Awannnss oM | o2-1 R | —— " =11
i |Gensrsl Inteligence snd Iy | T e
Pansining Atiliy w0 | 12-25 miw - _ a0 1223
i meaticad and Mumesical Aty a0 | pa—sa iy | et v e a0 24 -3
v ant of Language | Hindi 40 | 34=a38 i) | v i o fe= 40 34 a8
V) ‘ont of Languags © English &0 | 30-45 w) | e el o el 0 3B - 45

1.

Al guestons ame compellsary and sarmy oquad marks

The paper corrlen negative markings. For sach wrong
gremwer B35 marks willl be deducted.

I case of BNy dEcpancy batwsan s Englsh ard Hindi
wargiong of ary quasiion; the Engish version will be trmated
&8 finadautnanso,

. OMA Answes-Bhesl I8 enclosed in This Booklal, You mues

pamplals ®ie detafis of Aol Mumbar, Quasiion Bookist No.,
wie.; on tho Answer-Sheet and Anawar-Shes] Mo, on e
sgace abave n Mis Cuiesbion Boaklsl, bEles you
actiualy stan answering Lhe questions, Tailing whish your
Angwer-Shedt will nod B2 ovaluatad and yoo will pa aeanded
TERCC ma,

. Woi rnmt Aot bear ofl or remose any' shael nom Shis Bodkled

The Animear-Sheel mias! be handed awar o e Invigilator
tarfore woul Issve [he Examinabon Hall,

. Usa of GalculatorPaimopflaptep/Other Digitnd Instrumsany

MobilCel Phons'Pagoer s not sliowed,

Candiintes taund guity of misconductiusing il meansg in
i Examination Hull will ba lable for appropsiase penalicgal
aetlan.

This manninr i which diftereni gueshions ane o e snswened
has beon caplained ai the back of this Bookisi, which you
shauld read caraluly talong achaally arswrng the guestions.
ko Rough Work |8 to b dono on the Answor-Sheet

a,

1.

el e s Ao AR |

T U TETTE S R | e 2 i fe

0.25 S0 /I AW |

af Feelt w5 T T st e 4w s A iR
s o ) sl e wei

T T - 8 Ay, s, Fw-afe wes s
w37 W A W - i arsnTe e, mE
feren s, yeaiit o v v oS § e Ry e e
o T -t e e | s wreht o e s et
i sy i B |

v e & <R o s m e s B | st -
et A et -l P o ward wd

I e e e R e e R I R

s aEE ety

TS A AT T T e S ) T T s
gfeitveieren et A el & wa

ferfors ol & e 3 A T i e e R
i 8, s vt & e R e s g

= v wr T-afEn Al e g

Go through instructions given in Page No. 48 (Back Cover Page)

Ai-

-




Who was the first Indian to go into
o Soea R

(A} Satish Dhawan

(B) Ravi Malhotra

(C) Rakesh Sharma

(D) None of the above

Who wrote 'Dragons Seed' 7
(A) Pearl S. Buck

(B} Shakespeare

(CY Shelley

(D) Keats

3. The Paratroopers Training School of
the Indian Alr Force, is located at

(A) Nasik
(B) Agra
(C) Pune
(D) Dehradun

Bismillah Khan is associated with
(A} Tabla

(B) Sarod

(C) Flute

(D) Shehnal

5.

T
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i) General Awareness

The tfamous Meenakshi temple is In
(A) Gujarat

(B) Orissa

{C) Maharashtra

(D) Tamil Nadu

Christopher Alan Bayly, who
passad away, recenlly was a
Tanﬁus
(&) Actor

(B) Historian
(C) Economist
(D) Journalist

In which country Asia African
Business Summit kicked off on
21 April 2015 7

(A} SriLanka Ao
(B) Bangladesh

(C) Indonesia

(D) Singapore

The Lal Bahadur Shastri Academy
which trains Indian Administrative
Sarvices officers is situated at

(A) Mussoorie
(B) Dehradun
(C) Srinagar
(D) Khandala
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10.

11.

Late Sr K. Shankar Pillai was
assoclated with which of the
following fields ?

(A} Social Service

(B] Music

(C)
(D)

Cartooning
Motion picture

Who among the foliowing is a famous
tabla player 7

(A) Ali Akbar Khan

(B) Birju Maharaj

(C) Ravi Shanker

(D) Swappan Kumar

Which country generates highest per
capita e-wasie 7

(A} Singapore

(B] MNorway

{C) lceland

(D)

Which of the following is Indian
navy's biggest guided missile
destroyer 7

(A) INS Visakhapatnam

(B) INS Paradip

(C) INS Marmagoa

(D) INS Kolkata

Denmark

13
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E-Samiksha is an anline project
monitoring system launched by

(A) Indian Railways
(B) NHAI
(C) RBI

(D} FIPB

Guru Gopl Krishna was a ﬂ"hﬂﬂﬁh'ﬁi:.lf
which of the following dance forms 7
(A} Manipuri

(B) Bharatnatyam

(C) Kuchipudi

(D) Kathak

Shiv Kumar Sharma is a famous
player of

(A) Sitar Ly
(B) Flute

(C) Tabla

(D) Santoor

The largest dry dock in India is
situated at

(A)
(B}
(©)
(D)

Cochin
Marmagoa
Kolkata
Mumbai
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India’s first Ladies Special Sub-urban
train was started by which of the
following zones of Indian Railways 7

(A) MNorthem
(B) Woestem
{E} Central
(D} Southem

Which State of India is known for
highest per capita alcohol
consumption 7

(A} Gujarat

(B) Kerala

(C) Tamil Nadu

(D) Telangana

Waorld Earth Day Is observed on
which of the following days 7

(A) April 20

(B) April 21

(C) April 22

(D) April 23

Recenlly, the European Union has

proposed a 10 point action plan to
stem

(A} Terrorism

(B) Migrant crisis

(C) Child labour

(D} Weman harassment

21.

22,

24.
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Which bank announced the launch
of "Tap n Pay" new innovative NFC
(Mear Fleld Communication) based

contactless payment system 7
{A) Axis Bank

(B} HDFC Bank
(C) ICICI Bank
(D) Corporation Bank

The Pollution Management and
Environmental Health (PMEH)

program has been launched by
which of the following Bodies 7

(A) United Mations
(B) World Bank
(C) Aslan Bank
(D) Eurnpa&n Union

Janzaki Ballabh Patnaik, who died
recently, was a former chief minister
of which State 7 %

(&) Bihar

(B) Odisha

(C) West Bengal
(D) Jharkhand

Which State recently launched the
campaign ‘Subodham’ to halp people
overcome alcohol, drug abuse 7

{A) HKerala

(B) Gujaral

(C) Madhya Pradesh

(D) Karnataka
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Recently, which country has agreed
to hold first ever joint military exercise
with Pakistan 7

{A) Hussia

(B} Japan

(C) Bangladesh

(D) Nepal

Which of the following stadia is
India's first solar powered sporting
venue 7

(A) Wankhede stadium, Mumbai

(B) Chinnaswamy Stadium,
Bengaluru

(C) Eden Garden Eladlurn. Kolkata

(D) Feroz Shah Kotla Stadium,
New Dalhi

In terms of number of subscribers,
the top telecom operator in the
World is

(A} China mobile

(B} Vodafone

(C)  Airtel

(D) Telafonia

Bidyut Chakraborty, who passed
away recently, was a famous film
director in which language 7

(A} Telugu
(B) Assamese
(C) Tamil
(D) Marathi

29,

31.
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What is the average Intelligence
Quotient (1Q) of normal persons 7

(A) 10010120
(B) 90to110
(C) 7010130
(D) 5010100

In which country Prime Minister
Modi inaugurated Hannover
Industrial Fair-2015 7

(A) Canada

(B) Germany

{C) France

(D) South Africa

Apurvi Chandela is related to which
among the following sporis 7

(A) Shooting b
(B} Tennis .

(C) Badmintan

(D) Wrestling

The Parliamant of Bangladash Is
known as

(A) MNational Assembly
{B) MNational Parlament
iC) Jatiya Sansad

(D) Rashtriya Panchayat
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33. Mark is the currency of 37. Operation Blue star s associated with
(&) England (A) Heart transplant in blue babies
(B) Germany (B} Israeli attack on Lebanon "
(C) Ireland (C) Military action in Golden Temple

D) F (D) MNone of these

38. Ramman is a religious festival and
* ritual theatre of -
(A) Uttarkhand
(B) Uttar Pradesh

34. Who is the first woman legislator in
India ?

(A) Tara Cherlan

) (C) West Bengal
(C) Muthulakshmi Reddy (D) Madhya Fradesh
(D} Anna Chandy
39. Meenakshi Madan Rai has been
35, Which type of anclent script did the appointed as first woman judge of
Harappans use 7 which court ?
(A) Pictographic (A} Delhi High Cour (-
(B) Linear (B) AHﬂhﬂhﬁd_ High Court
(C) Symbolic (C) Sikkim High Court
(D) Hieroglyphic (D) Karnataka High Court

40. The President of World Bank has
always been nominated by the

36. Where is the longest rallway platform

in the world 7

(A) Kolkata (A) European Union

(B) Kanpur (B) United Nations

(C) Kharagpur (C) United States

(D) Chennai (D} European Commission

A -0-
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ii}) General Intelligence and Reasoning Ability

Based on the lollowing statements,

which is the comrect conclusion drawn,

Only gentlemen can become

members of the club. Many of the

mambers of the club are officers.

Some of the officers have been

invited for dinnar,

(A} All the members of the club have
been invited for dinner

(B) Some of the officers are not
gentlemen

(C) All gentlemen are members of

the club

Only gentlemen have been
invited for dinner

(D)

Qi the follewing two statements, both
of which cannat be true, but both can
also be false. Which are these two
statements 7

L. All machines make noise
Il. Some machines are nofsy
lli. Mo machine makes noise

IV. Some machines are not noisy
{A) landl

(B) WMandIV
{C) landlll
(D) lland IV

=12

43. There are eight poets, namely, A, B,

C, D, E, F, Gand H in respect of whom
questions are being asked In the
examination. Tha first four are ancient
posts and the last four are modem
poels, The guestion on ancienl and
modern poets is being asked in
altemate years. Those who likg H

.also like G, thoss who like D like C

alsn. The examiner who sets
question is nat fikely 1o ask question
on D because he has writlen an
article on him. But he likes D. Last
year a question was asked on F.
Considering these facts, on whom
the question is most likely to be asked
this year 7

(A) B

(B) C
) B
oy G
In @ family there are husband wife,
two sons and two daughters. All the
tadies were invited to a dinnar, Both
sons went out to play. Husband did
not return from office. Who was at
home 7

(A) Only wile was at home

(B) All ladies were at home

(C} Only sons were at home

(D) Nobody was at home
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45,

46.

47,

A man is facing west. He turns 45
degres in the clockwise direction and
then another 180 degree in the same
direction and then 270 degree in the
anticlockwise direction. Find which
diraction he is facing now 7

(A) South-West

iB) West

{C) South

(D) East-South

A man is facing north. He turns 45
degree in the clockwise direction and
then another 180 degres in the same
direction and then 45 degree in the
anticlockwise direction. Find which
direction he Is facing now 7

(&) North

(B) East

(C) West

(D) South

One day, Raviraj left home and cycled
20 km southwards, turmed right and
cycled 10 km and turmed right and
eycled 20 km and tumed left and
cycled 20 km. How many kilometres
will he have to cycle to reach his
hame straight 7

{A) B50km

(B) 30km

(C) 40km

(D) 60 km

48.

49,
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Kunal walks 10 km towards North.
From thera he walks 6 km towards
South, Then, he walks 3 km towards
east, How far and in which direction
is he with reference to his starting
point 7

(A) 5 km North

(B} 5 km South

(C) 5§km East

(D) & km MNorth-East

A man walks 1 km towards East and
then he turns to South and walks
5 km. Again he turns to East and
walks 2 km, after this he furns to Narth
and walks 9 km., how far is he from
his starting point ?
(A) 3km

(B) 4km

(Cy BEkm

(DY Tkm'

Laman went 15 kms ta the west from
my house, then turned left and walked
20 kms. He then turned East and
walked 25 kmis and finally turning left
covered 20 kms. How far was he from
his housa ?

(A} Skms

{B) 10 kms

(C) 40 kms

(D) 80 kms
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52.

51.

From his house, Lokesh went 15
kms 1o the Morth, Then he turmed
West and coverad 10 kms. Than, he
turned South and covered 5 kms.
Finally, wrning 1o East, he covered
10 kms. In which direction is he from
hig housa 7

(A) East

(B) Weast

(C} Morth

(D) South

A walks 10 metres in front and
10 metres to the night. Then every fima
turning to his left, he walks 5, 15 and
20 metres raspactively. How faris he
now from his starting point 7

(A} 5 metres

(B) 10 metres

(C) 20 metres

(D} 23 metres

Here are some words transiated from
an artificial language.

dionot means oak tree

biyonot means oak leaf

blycrin means maple leaf
Which word could maan “maple
syrup” !

(A) Blymuth

(B) Hupponot

(C) Patricrin

(D) Crinweal

JDD-6IA0M-15

54. Here are some words translated from
an artificial language.
tarmceno means sky blue
cenorax means blue cheese
apimitl means star bright
Which word could mean "bright sky” 7
{A) Cenotam
(B) Mitltam
(C) Raxmitl
(D) Aplceno

58. Hers are some words translated from
an artificial language.

gemolinea means fair waming

gerimitu means report card
gilageri means weather report
Which word could maan “fair
weather" ?

(A} Gemogila

(B) Gerigeme &
(C) Gemomitu

(D) Gerimita

56, Here are some words translated from
an artificial language.

slar means jumep

Sfary means jumping

slarend means jumped

Which word could mean “playing” 7
(A) Clargslarend

(B) Clergy

(C) Ellaclarg

(D) Slarmont




51.

32.

83.

AR A SR e e A ain
15Tl o | A T wfm A gE
w3 10 B, 3 7 ) R
gt foen F 37w 5 Be, T | s
77 E #1 An 10 TR i =en  srA ma
ymas FrE Rm AR 7

(A)

(B) wiF=m

(C) FW

(D) &fEm

A 7 10 e art Ferer 10 se e
HE =E B | AT H O g ae) @n
O B 9% F 5, 15 30 20 i
T R | E g8 A fag # B

FAHET?

(A) S
(B) 10
(C) 20
(D) 23T

=8l v FiEw wmn | el B
Fo TR AT

dionol 1 RaeE & 31w 98

biyono! =1 WA § ST g8 & U
biyerin &1 5 & H9e 95 %1 W
"R fer & Tor e v w7
(A)  Blymuth

(B) Hupponot

(C) Patricin

(D) Crinweel

JDD-63/A0/X-15

54. TE UF FEW v ° weEia o

5 W e T E

tameeno ™ waEr B w4l we
conorax 1 Haws § 56 =6
apimitl &1 Tem T W2H S
“JEeEn | & oo e s Em 7
(A) Cenotam

(B) Mitltam

(C) Raxmi

(D) Aplceno

. HE UF FEm wm ° worait W ow

¥ e EA T

gamolinea =1 WereTa W =i &
germitu=ht TaeE & e =
gilageri # Heeia & a5t fard
e & fom R e B 7
(A) Gemogila
(B) Gengema
(C) Gemomitu
(D) Gerdmita

. IR v B wen § sl B o

% ¥ fod TR

slar 1 T @y
slary &1 e & w
slarend =1 FAeE & 978
“eetn’ % Fer e s w7
(A) Clargslarend

(B} Clergy

(C) Ellaclarg

(D) Starmont

et . |

.._
L

TT




57.

R*TJL2S5D=M#BC%B<K1&
AWTIPE+-Q®@7FB

How many such numbers are thare
in the above sequence, each of
which is immediatety preceded by a
consonant and immediately followed
by a symbol 7

(A) Mil

(BY One

{C) Three

(D) Mone of thase

R*TJL2SD=M#BC%B<K1&
AWTPE+Q@T7F6

Which of the following is sixth to the
left of eighteenth element from the
iefi 7

(A) %
(B) C
€ 1
(D) B

R*TJL25D=M#£8C%B<K1&
AWTPE+Q®@7F6

If the above sequence is written in
reverse order then which of the
following will be sixth to the right of
sixteenth element from the right end 7
(A) M
(B) A
{C) B
By 7

B0.

61,

JDD-63/A0MX-15

R*TJL2ED=MRBC%B<K1&
AWTPE+Q@7F6

if tha first fifteen elements in the
above sequence are written in
reverse order, then which of the
following will be twenty-first from the
right and ?

(A) 2

(B) $ y

(C) =

D) L

SKEEQ2R"CFBESG2#49L
N3UVEYaB7WS

How many symbols are there in the
above arrangement each of which is
immedialely preceded by but not
immediately followed by a letter ol
English alphabet 7

(A) Nil

(B) One ¢

(C) Two _

(D) Three

SKEELQZR"CFBESG2#49L
N3UVEYaB7W3

With the help of above series, find
what should come in place of guestion
mark in the foliowing senes 7
SAaKBEWEQT727CaF

(&) RY"

B) *YC

(C) 2BH

(D) RB*




s

87.

58,

58.

A»

R*TJL2SD=M#BC%B<K1&
AW?PE+Q@7F8

el e = Ui ) w3 s
veel = B sl we e v g @ 7
(A) =

(B) u=

(C) W

(D) % B

R*TJL23D=M#BC%B<K1&
AW?IPE+Q@7F8

et 5 i wwfl 5in @ sened wes %
w7

(A) %
{8y C
{C) 1
(D) 8

R*TJL2§D=M#BC%B<K18&
AWTPE+Q@7F86

T Fit wEen 3 el @ oo
P 8 8 a9 o aiv @ gl wes
F e IR B WHWR ?

(A) M
(B) A
(C) B
(oy ?

18-

60.

&1.

B2,
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RA*TJL25D=M#BC%B<K1&
AW?PE+Q@7F6

Ifa FH e § IEe) TSR e I
foa o &, Moafeh sima A d &
1 gkt w7

(A) 2
B %
(C) =
(D) L

SKEGEQZR*CFBESG2#491L
N3IUV5YaB7W8

il e 1 1 e Fe d T s
A T e w0 i e w0
e A AT 7
(A) 15
(B) T

(C) =

(D)

———

&

SKBEQ2R*"CFBESG2449L
N3UVEYaB7WS

T} qgen ) wema @ waEe & e
srEe | W T ) s = e
SOKeEWEQ727CaF

(A RY"*

(B) *¥C

(C) 2BR

(D) RB*

| G




65.

SKEFQ2R"CFBESG2#491L
NAUVEYaB7TWSO

If the positions of # and $are
interchanged, so also the positions
of € and *, Q and K and F and V are
intarchanged, which of the following
will be the ninth element to the left
of eighteanth element from the left 7
{A) C

By v
{C) 8
oy -~

SKEEQ2R"CFBESG2#40L
N3IUVEYaB7WS

Four of the following five are alike in
respect of thair positions in the above
series. Which is the one that does not
belong to that group ?

(A) Q"8

By ERF

(Cy 682C

(D) 2°8

Statements : The best evidence of
India's glorious past Is the growing
popularity of Ayurvedic medicines in
the West,

Conclusions :

. Ayurvedic medicines are not
popular in India.

Il. Allopathic medicines are more
popular in India.
(&) Only conclusion | follows
(B) Only conclusion Il follows
(C) Either | arll follows
(D) Meither | nor 1l follows

66.

JDD-63/A0MX-15

Statements : Death keeps no
calendar.
Conclusions:

L Man must die one day.

Il. Death can come atany time.
(A) Only conclusion | follows
(B) Only conclusion |l follows
{Cy Either | ar |l follows
(D) Bothland Il follow

Statements : Wind s an inexhaustible
source of energy and an asrogenerator
can convert it into electricity. Though
not much has been dona in this field,
the survey shows that there is vasl
potential for developing wind as
alternative source of energy.
Conclusions:
I. Energy by wind is comparatively
newly emerging field.
Il. The energy crisis can be dealt by
exploring more in the field of
aerg-generation.
(A) Only conclusion | follows
(B) Only conclusion [Mollows
(C) Eitheror |l follows
(D) Both I and Il foliow

Statements : The best way o escape
from a problem is to solve it.
Conclusions:

. Your life will be dull if you don'l
face a problem.

Il. Toescape from problems, you
should always have some
solutions with you.

Onily conclusion | foliows
Only conclusion Il follows
Either | or Il follows

Neither | nor Il follows

(A}
(B}
(€)
(D)
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G4,

€5.

A

SKELQ2R‘CFBESG2#49L
N3UVEYaB7WSg

R 4 #w § & Bl sEea-ama
WAL B, F4 vEE £ # *, O o K o
F &R v #1 el seen-agw & o)
®, 71 Fm & A el o A s
% 4 o] i g i e ¢

(A} C

B} V

{C) 8

oy -

SKEEQPR'CFBESG2#49L
N3UV5YaB7W8

e = 1 vl S g o e
e H U N | 3E w8 A
TR B HEn A R T

(A) Q8

(B) ERF

(C) 82C

(D) 2+8

W : WRA % IR g7 F Ha |
AT T 1 wfved) 3 6w
T T
Frowd: | smdleE sy wia b
GleavuErik
. T v e i s
T
(A} e e | o TR
(B) e Pl |\ w7
(C} 13T 1T e 8
(D) AT | ) e

JDD-63/A0/X-15

66. WU ; Yy AT Ferst T6 W
Frewd, | i BT R
I, oy Fore ot v e 2
(A) el T | e S R
(B) e e || ITem Fa 8
(C) 1347 | 9T i B
(D) IsnEEi e e S

67. WUA : FE1 I8 FH1 U A5G @R
3TV 38 T Tl A A o e
B |wa o W 49§ aga Fe A e g, b
Ay wad v ) deEs et )
16 = e e § -
e | =0 el  stenEa T i
A AE R |
0, W S % A H
AT FT FHAI-THZ F
A e SrEEam e |
(A) FFae Freed | o w2
15}#ﬁaﬁqmnwmmmmd
(C) |11 Ter i B
(D) | 38 )| S o =

BB. TN T E T G A
? | 3H B T |
Freed: | soem <ftem fimm g of
mﬁa‘tmiﬂmqﬁ
w1 |
I, EE # e u % fem
TR 9 SR RETE e |
(a) Fae Frerd | gwE a2
(By e Fresd || gem w8
(C) 1T T =
(D) T 1 T A

R —




73.

74,

As

(A}

BOEG : DFGI::HKMO:
ILNP
(B) JMOP
(C) JMOQ
(D) JNOQ

ACDE:CGIN::BEHI:
(A) DJING

(B) DING

(C) DINR

(D) DHNGQ

SUWY  LPTX :: PRTV: _
(A} INRU
(B} INQU
(C) IMRU
) IMQU

BCDE : DFHH ; : FGHI ¢
(A) LJPL
(B) LKPL
(C) JKPJ
(D) IKPL

Find the odd one amang the following
(A} ZW
(B) TQ
(C) SP
(DY ML

Find the otd one among the following
(&) CFD
(B8) GJH
(C) KNM
(D) JMK

i

76,

79.

B80.

JDD-63/A0/X-15

Find the odd one among the lollowing
(A) 125

(B) 25

(Cy 3375

(D) 625

Find the odd cne amaong the fallowing
(a) 110

By 111

(C) 1000

(D) 1001

1.8,7,13; 21,
(A) 27
(B} 29
(C) a1
(D) 33

Lok at this series : 2, 1, (172), (1/4), ...
What number should come next 7
Ay (1/3)

(B) (1/8)

(C) {(28) b
(D} (1118}

4,9,16,25,36,
(A) 47
(B) 48
(C) 49
(D) 64

Look at this series: 22, 21, 23, 22,
24, 23, ... What number should
come next ?

(A} 22

(B} 24

(C) 25

(D) 26
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69. BDEG :DFGI:: HKMO: 75, P a R = i |

(A} ILNP (A} 128
(B} JMOP (B) 25
(C) JMOQ (C) 3375
(D) JNOQ (D) 625
70, ACDF:CGJN::BEHI: 76. = d & fawn o AR,
(A} DJNQ (A) 110
(B) DINGQ B) 111
(C) DINR ﬁg}} E?
(D) DHNG
. L8.T18.%, 3
71. SUWY :LPTX::PRTV: (&) 27 :
(A)  INRLU I:E} 29 L
(B} INQU c) 31 j
(C) IMRU (D) 33 |"
R AN 78, TEE2, 1,{1/2), (1/4), ... F 3t HeEn
72. BCDE :DFHH ::FGHI: FE Y
(A) LJPL (A) (1/3)
(B) LKPL (B) (1/8)
(C) JKPJ (C) (2/8) ¢
(D} IKPL (D} (1/18)
73, Freril @ vt il E 1?25-35-—
::'; f:i (B) 48 1‘
(C) 48 _.
(C) SP g z
(D) NL i
e £ UE—— 80. gﬂﬁ,gﬁ%&ﬁ,ﬂ,ﬂﬂ...-.ﬁmﬁﬂ
(A) CFD (A) 22
(B) GJH B) 24 .
(C) KNM ) 25
(D) JMK D) 26
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iii) Arithmetical and Numerical Ability

81. Two cards are drawn at random from B85, Awatertank is two fifth full. Pipe Acan
a pack of 52 cards. The probability fill & tank in 10 minutes and pipe B
that both are the cards of spade is can emply it in 6 minutes, if both the
(A 1/26 pipes are open, how long will it iake
B 117 to empty or fill the tank completely 7
© i e,

min to
VY. ot () 9 mintofil

B2. In a single throw of two dice, the (D) None of these
probability of getting more than 7 is ;

(A) 7196 86, Pipe A can fill a tank in 5 hours, pipe
B in 10 hours and pipe C in 30 hours.

{B) 512 If all the pipes are open, in how many

(Cy 712 hours will the tank be filled ?

(D) 5/36 (A) 2

83. Two pipes A and B can fill a tank in ) 25
20 and 30 minutes respectivaly. If ) A
both the pipes are used together, then (B a5
how long will it take to fill the tank ? 87. Find compound interest on As. F‘w
(A} 12 min at 4% per annum for 2 years,

(B) 15 min compounded annually
{(C) 25 min (A) Rs. 512
(D) 50 min (B} Rs.B12

(C) Rs.312

84. A tapcan fill a tank in 6 hours. After (D) Hs. 412
half the tank is filled, three more
similar taps are openad, What is the BA. Atwhat rate of compound interest per
total time taken to fill the tank annum will a sum of Rs. 1,200 become
completely 7 Rs. 1,348.32in 2 years 7
(A} 3hrs 15 min (A) 6%

(B} 3hrs 45 min (B) 7%

{C} 4hrs (C) B%

(D)} 4 hrs 15 min () 9%
Ai- ,i.,;




81, souEiR T D 2 v g R I

83.

B4.

Ax

JDD-63/A0K-15

jii) atermoTe T Td Tt A

# |3 201 o o Y S A
(A) 1126

(B) 117

(C) 1/4

(D) 3 B w0

F1 et & TEETg SEEE O 78 A
e T = EEE

(A) 7/36
(B) 5/12
(cy 712
(D} 5/36

A 3l B w2 21 uEm v 2R FEE 20
fv 3o feere i v Ea & | AR T T
) TEETY ITE # w66
o et T W Wit st

(Ay 12T=

(B) 15z

(c) 25T

() softre

wF 6, T F) 6 TS H o e 2 |
sieft 2o s & e v A ai A
1w e S | T8 26 70 T R
 fom 5w T w0 m

(A} 3®92 15T
(B) 39w 45 fiee
(C) 4w

(D) 4wU2 15 =2

s, o uE FR o5 wh B R A T

b &) 10 iz & v o 8 2B TEy
T 6 fire 1wl # wwa ® | af
AT e B AT T W 8, A AR
2 ol e B et ) s & T e
HHg = 7

(A) e F # o e ez

(B e % f e iz

(C) % form g fimz

(D) T FE R

. T T A T 5 WE H, B R !
10U H, # G I 30 =El 8 W HE
2 | afe w7 Tredl 1 UsETY e e,

A1 Fh1 e T o ) e
(A) 2
(B) 25
) 3
(D) 35

%, 7,500 T 4%, U =9 aETE S =

2 =yl o fomm v ST e U AT
(A) % 512
(B) ® 612
(C) % 312
(D) % 412

| T T e @ W2 AN 6 6 1,200

#uffr 51,348,320 7
(A) 6%
(B} 7%
(C) B%
(D) 9%
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B9,

0.

1.

g92.

94

What will be the compound interest
on Rs. 26,000 after 3 years at the rate
of 12 % per annum 7

{A) 10123.20

(B) 10123.30

(C) 10123.40

(D) 10123.60

There is 60% incraase in an amount
in 6 years at simple [nerast. What
will be the compound interest of

Rs. 12,000 afler 3 years at the same
rale ?

(A) 3972

(B) 6240

(C) 120

(DY 2160

What day of the week does May 28
2006 fall on ?

{A) Saturday
{B) Monday
(C) Sunday
(D) Thursday

What will be the day of the week 15"
August, 2010 7

{A) Thursday
(B) Sunday
(C) Monday
(D) Saturday

Today |s Monday, ARer 81 days, it
will be

(&) Thursday
(B) Sunday
(&)  Monday
(D) Saturday

JDD-63/A0MX-15

84, The calandar for the year 2007 will
be the same for the year

(A] 2017
(B) 2018
(C) 2014
(D) 2016

95. HA=x%olyand B =y% of x, then
which of tha following is true 7
(A)Y A ls smaller than B
(B} Alsgreater than B
(C) Relationship between A and B
cannot be determined
(D) WNone of thase

96. I 20% ota = b, then b% of 20 is the
Same as
(A) 4% ofa
{B) 5% ofa
(C) 20%ofa 3
(D) MNone of Iha?m

87, In a certain school, 20% of students
are below B years of age. The number
ol studenls above 8 years of age is
2/3 of the number of students of
8 years of age which is 48, What is the
total nember of studants in the school 7
(A) 72
(B) 100
(C) 120
(D) 150
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89,

9.

A

129wt o gl s s w

%. 25,000 7% 91 3 =491 =1 == Em
(A) 10123.20

(B) 10123.30

(C) 10123.40

(D) 10123.50

6 =1 # TTE =T 91 H o A H 60%
Fafeadfi R 1 s mws 12000
3 a] = =g s faen i 7
(A) 3872

(B) 6240

(C) 3,120

(D) 2,160

28 7§ 20067 TOATE =1 v e ar 7
(A) FIEW
(B) HwER
(C) TEw
(D) TFET

15 3T 201 01 HEE = # e a7
(A) TR
(B) W
(C) Hwaw
(D} FriEw

afs 3= AvEn g, A6 FEF IR Em
(A} TR
(B) TR
(C) R
(D) FiHER

94,

25,

26.

g7,

JDD-63/A0/X-15

T 2007 1 FHE 38 3 & foo da
B

(&) 2017

(B) 2018

(€C) 2014

(D) 2018

ARA=y®F x%E, B=xFy%?,

Fedamada v

(A ATEBE T2

(B) ATEBH TR .

(C) A3 B o= = ary Faifs
& o =

(D) ¥ & wrd e

TR a® 20% =b ¥, 9 20 0o T
HFTTER
{(A) a®i4%

(B) a® 5% L7

(C) a®120%

(D) 398 & 7

v Tafrara v o 20% Rl s e
BanImF # | 8 A § a2 ey
= HEn B W & IavETe faemeta
HEH 23R A 48R 1 TH A G
TaremeTa = wen e B 7

(A) 72

(B) 100

{c) 120

(D) 150

'l-.—'..-—l----—JI




98.

a8,

100.

101,

102

A

Two numbers A and B are such that
the sum of 5% of A and 4% of B is
twa-third of the sum of 8% of A and
8% of B. Find the ratio of A : B.

(A) 2:3 (B 1:1
(C) 3:4 (D) 4:3

A cyclist covers a distance of

7ED meter in 2 minutes 30 saconds.
What is the speed in km/hr of cyclist 7
(A) 16 km/hr

(B) 17 kmihr

(C) 1B Em/Mr

(D) 18 kmhr

An athlete runs 200 meters in
24 seconds,. His speed 18

(A) 10 kmvhr
(B) 17 kmvhr
(C) 27 km/hr
(D) 30 km/hr

A person crosses a 600 meter long
street in & minutas, What is the speed
in km'hr 7

(A) 6.2 kmmMr
(B) 7.2km'hr
(C) 8.2km'hr
(DY 9.2km'hr

A man is walking at the rate of 5 km/Mhr
crosses a bridge in 15 minutes. The
length of tha bridge is

(A} 1000 melers

(8} 1050 meters

(C) 1200 meters

(D) 1250 meters

-28-

103,

104,

105.

106.

JDD-63/A0/MX-15

The sum of the digits of a two-digit
number is 15 and the difference
between the digits is 3. What is the
two-digit number 7

(A) 68

(B) 7B

(C) 96

(D) Cannot be determinead

The sum of the squares of threa
numbers is 138, while the sum of their
products taken two at a time is 131.
Their sum is

(A) 20

(B) 30

(C) 40

{0} MNone of thesa

A number consists of two digits. If the
digits interchange places and the new
number is addaed to the original
number, then the resulting pumber
will be divisible by

(A} 3

(B) &

C) 9

Dy 11

In a two-digit, if it is known that its
unit's digit exceeds its ten’s digit by 2
and that the product of the given
number and the sum of its digits is
equal to 144, then the number is

(A) 24
(B} 28
(C) 42
(D) 46




I

98.

100.

101.

102,

A 31 B TR 2 e vl # R A 5%
B H 4% T AETE AT 6% F 3R
BF g a-fend A BF
e ven e |

(A) 2:3 B 1:1
(C) 3:4 (D) 4:3

e Ei e 750 e 1 ol 2 e
30 #Fz § ol W B ) 30 anfEne
&1 kevhr © i B
(A} 18 kmvihr
(B) 17 knvhr
{C) 18km/hr
(D) 18 kmihr

e 2 200 diE 24 #eE 1
# | Zaa i B 8 1

(A) 10 kméhr

(B) 17 kmihr

{C) 27 kmi/hr

(D) 30 kmvhr

wa = 600 Hier wad i wee s fie
H um s A R, @ 3EE TR kb E 8

(A) 82kmihr
(B) 7.2km'hr
(C) B.2km/hr
(D) 9.2 km'hr

v s & knvhe 1T A =FEA B0 0
9 1 15 firz A e w #1381
e 2

(&) 1000 = {B) 1050 iz
(C) 1200 (D) 1250 HiZ

-29-

103.

104,

105.

106,

JDD-63/A0MX-15

Bl FRETHA| UF WS & AFIFIAS 15
? 3y 3R 3 3 R | T8 F) SAwETE
e FAEH S 7

(A) 69

(B) 78

(C) 96

(D) Fwifa = Fmaasm

?ﬁ:ﬁﬁmﬁﬂ:mﬁmﬁamﬂilﬁ‘
T 7 W A §U IS qUAHR
A2 131 B R | T HEnA AR R

(A} 20

{B) 30

(C) 40

(D) T |

v aEd @ s ¥ | ol st = e
HEE T A 75 WeA § qE qe
51 Tirermar =mm & 97w T s
ECNECEaull £
(A) 3
(B) &
(C) 9
oy 11

1 STRTTEA Ueh AT ] G A 2
¥ 1 2 At B ol 30 wen | 0
1 ¥ e 1 e 9 144 8, A
oY HE B
(A) 24
(B} 26
(C) 42
(D) 46
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107.

108.

108,

110,

How many times in @ day, the hands
of a clock are straight 7

(A) 22

(B) 44

(C) 48

(o) 24

How many times are the hands of a
clock at right angles ina day 1

(A) 22

(B) 44

{C) 24

(D) 48

How many times in a day, afre the
hands of a clock in straight line but

opposite in direction :,
(A) 48
(B) 22
(C) 24
oy 12

At3.40, the hour hand and the minute
hand of a clock form an angle of

Ay 120

(B) 130
(C)
(D)

125
136

111.

112,

113.

JDD-63/A0MX-15

A.BandCstarted a businass by
investing Rs. 1,20,000, Rs. 1,35,000

and Rs. 1,50,000 respectively. Find

the share of each, out of an annual

profit of As. 56,700.

(A) Rs. 16,600, Bs. 18,900, Rs. 21,000
(B)] Rs. 186,800, Rs. 19,000, Rs. 21,000 '
(C) Bs. 16,800, Rs. 18,900, Rs. 22000
(D) Rs. 17,800, Rs 18,900, Rs. 21,000

P and 0 started & business investing
Rs. 85,000 and Rs. 15,000 respectively.
in what ratia the profit garmed aiter
o years be divided between Pand Q
respectively 7
(A} 3:4

(By 17:3
(C) 15:23
(D) 17123

Arand and Deepak staried a business
investing Rs. 22,500 and Rs. 35,000
respectively. Outofa total profit of
Rs. 13,800, Deepak's share is

(A) Rs. 5400

(B) Rs.7,200

(C) HAs, 8,400

(D) Rs, 8.600




167,

108.

109.

110.

e fo ol o et e e
Cinik A
(&) 22
(B) 44
(C) 48
(D) 24

s T 1 et o) gt ot A
HEd S 7
(A4) 22
(8) 44
(C) 24
(D) 48

w fo F ot o gt el wm o),
wife freg fem d i § 7

(A) 48

(B) 22

(C) 24

(D) 12

3407 de R uE i e R g &
ik auiani

(A) 120

(B) 130

() 125

(D) 135

111

112

113.

JDD-63/A0X-15

A, B3 C@E: 5. 1,20,000,

%, 1,35,000 3% %, 1,50,000 Fw
=T o R #ad § | 3

%, 56,700 ¥ S AT H B U W
T wen =ik |

{A) % 16,800, %, 18,900, %. 21,000

(B)- % 16,800, % 19,000, % 21,000

(C) %. 16,800, %. 18,900, %. 22,000
(D) % 17,800, %. 18,900, %. 21 000

p it Q@Faen: %, 85,000 31 5. 15,000
T SR e A § D & am
o aegver 9 TR P T o ol
"fer=mEm 7
(A) 3:4

(B) 17:3
(C) 15:23
(D) 17:23

SF7 3 Ao FEe: 5. 22,500 3R
3. 35,000 FFE F =man pE =6 # |
%, 13,800 = TATF 1 & o feen 2

(A) ¥. 5,400
(B) % 7,200
(C) #%. 8,400
(D) %. 9,600

|




115.

116,

A

It 4 (A's capital) = 6 (B's capital) =
10 (C’s capital), then out of a profit
of As. 4,650, C will receive

{A) Rs. 465

{B) Rs. 200

(C) Bs.1550

(D) Rs. 2,250

A man has Rs. 480 In the
denominations of one-rupea notes,
five-rupee notes and ten-rupee
notes. The number of notes of each
denominafion is equal. What is the
total number of notes that he has 7
(A) 45

(B) &0

(C) 75

(D) 80

There are two examinations rooms A
and B. If 10 students are sent from A
to B, then the number of students in
each room is the same. if 20 candidates
are sent from B to A, then the number
of students in A is double the number
of students in B. The number of
‘students in room A is

(A) 20

(B) 100

(C) 120

(D) 200

117.

118.

118.

120.
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The price of 10 chairs is equal to that
of 4 tables. The price of 15 chairs and
2 tables together is Rs, 4,000. The
total price of 12 chairs and 3 tables is
(A) Hs. 3,500
(B) Rs. 3,750
(C) Rs. 3,840
D) Rs. 3,900

The price of 2 sarees and 4 shirs is
Rs. 1,600. With the same money one
can buy 1 saree and & shirs. If one
wanis to buy 12 shirts, how much
shall he have lo pay ?

(A) Rs. 1,200

iB) Rs. 2400

(C) Rs. 4,800

(D) Cannot be datermined

The angle of elevation of tlp sun,
when the length of the shadow of a
trea, 3 times the height of the trea, is
(A) 30°
(B) 45°
(C) 60°
(D) s0°

At 6 15, the hour hand and the
minute hand of a clock form an
angle of

(A) 97

(B} 90.5°

(C) 97.5°

(D) 80°




114,

115.

116.

A=

af% 4 (AFITEETE) = 6 (BFETE) =10
(CFETE) §, T E. 4650 TR H C
=1 firemm

(A) ®. 465
(B) % 900
(C) % 1,580
(D) % 2,250

v = T U B % A, TR
¥ e ol =e w9 F A T H % 480
| fi =l & et o) Hem v S R
7 e demH A R 7

(A} 45

(B) GO

{€) 7B

(D) 90

pafn g e S R AR A T
& gt i 10 Fremefi S s € w21
il 1 T i 1 @@ UEEEE BT
4 afz g H A AT 20 Beefl
FER T AFRE BFRLA TH
GarfiEaE | TR A A S T T
7 femeft §
(A) 20
(B) 100
(©) 120
(D) 200

117.

118.

118.

120.

e g 10 TR F
| 15 Fafat s 2 w4 = g
g E, 4,000 | 12 Ffet 3 3 5
1 %E a8
(A) ¥. 3,500
(B) % 3,750
(C) %. 3,840
(D) % 3,900

2 wrift ot 4 i &1 % g7

%. 1,600% | I Ofi & 1 |rE 3w

s i aeeu f | aR iR
125 w8 & e ofn =
Bt 7

(A} . 1,200
(B) ¥. 2.400
(C) % 4,800
(o) RfEm+iEmmwEm :

of v 2 wrn 6w 3aE San
# P 2, Mg IR R

(A) 30°

(B) 45°

(C) 60°

(D) 807

6 : 157 w2 &t ug o Bz 1 qf
ofta o o g @

(A) &7°

(B) 90.5°

(C) 975°

(D) 80°
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iv) Test of Language : Hindi
e aifterr :
121, A+ o0 =7, T wm Et wfa g 7 125, wehl waly Eede
(&) @ mrE (A) FE + HiH
(B) TRy (B) et + FiH
(C) & =R HY (C) =: + Tl
(D) svenfe e ia ©) v + 30
122, i + o = vfa=o, md wE = 106, avaTER W R RredaEt |
i (A) #Et + awA
N ﬁﬁfﬁ (B) Tt + ST
Ly (C) =& + A
(C) T ERHY
(D) e Ety b
123, vaq oYy Fea E | 12, e A :
(A) i+ 3 (A) IR i
(B) TF+ ¥ (B) YRy
©) W+ (C) THawRg e
D) W+ 3= (D) FRETH
124, wpfen i frede | 128, e 3 e e & 7
(A) 3 + 3 (A) e EE
(B) ¥+ 3@ (8) whREIE
(C) = + 3feE (C) wama T
(D) ¥+ TeE (D) TEEE




129, fFEAvid S TIE R 7
() =EdE e
(B) FemEEE

130, wel-goH AEARTEAE R 7

(A) Tt EAE
(B) AT FAE
(C) T HHTH
(D) RRTHH

w¥A 131-135 ; 39 TG F FER W
fenererttaa weai = 3 A |

ATETET B TN & e H T |

<y e T wren o = 6 e |
RIS T e el | I e |
aETE dE F e

3 Y S T, 38 T AR
nre e, T e R S S )

131, T v 1 3fam Tk
(A)
(B) T =Rt arheT
(C) oy ey AP
(D) Hf =

132.

133.

134.

135.
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v & FEA T 2

(A) 3T St E-wan A SAida e
|aTiE |

(B) vl i e v v B AR |

(C) e e S gl | e S
e |

(D) R AR e = |

"y g o SR TR W

(A) wRE

(B) THH '
(C) BaTve =

(D) HTETSh

T gE A - e R e
(A) HE-wE o
(B) e

(C) HgrvfEa = arE

(D) Tema i wE

o1 7 e ]
(A) T 3 TEA1 R 1S

(B) ﬁftﬂammmﬁm

(C) HETEl & ¥/ T EE A

(D) TR & =-TE = e




137.

138.

138.

As

T 1 3T @ A S A R R E 7
A) 2

(B) 3
(C) 8
(D) 4

s i 22 & T & fed v v 7

(A) 2

B) 3

(C) 8

(D) 4

wer R wEa E 7

(A) T Tl o Team H g H =
Fraped

(B) T =il & s=mrw o o | i
v FEa

(C) oyl o s o safirs wam
e

(D) Tor wrea & Fe=mm © o =R
Pt

e & = T ol steqgm Framin g 7
(A) ®

(B) B
{C) m
(D) %

140.

141,

142,

143.
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Frsr o & =05 a1 9 weww =t
T e 7

(A} 2
(B) =
€y =
(D) 2
HEqu R R R

(&) o vl % g=am w8 w0 @
foree

(B) o avil % sv=umm # g B wifs
A e

(C) Tom s o =R | STive v
EEo

(D) ToF vresl o T=amm | =0 v e

‘et 1 EhEm R £
(A) TR

(B) wHwet

(C) el

(D) IWE H § S A

‘i i R
(A) T
(B8) AR
(C) wRE
(D) e




144,

145,

146,

147

148.

T el ?

(Ay et

(B)

(C)

(D) T A =

“Frgm = i e

(A fere

(B) et

() faghmn

(D) T

frm i & T ] s e
(A}

B) W

(c) =

(D)

P g Fm e ay s EeE E
(A) =

(B}
(C)
()

i o 5

foddsRmaviamsgaa g ?
(A) E
(B)
() =
oy 9

A7

149,

150.

161,

152

153,
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Fr 5 & wa s sgen 2
)

(B) =
i} =
(D) =

Tt o) ety Forf o s e Al 27
(A) 52
B) 51
(C) 45
(D) 42

e <y il ot = foperd e 8 7
(A) 10
(B) 12
{cy 1
(D) 9

&4 o 2gaerh Wl A g R 6

FgEEn T
(A} 4
(B) 3
iC) 2
(0) 1

e = 2] oy o e T el 2 7
(A) 4
(B) 3
©) 2
(D) 1
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154 N fEmwd F e A R, WAmEE | 157, wwdmad s d
e« Ay
(A} TR B o
(C) wmT f (C) wEHEaa
155, Timﬁﬁm#ﬁmﬁmﬁi? R L GG I GO
Bl & (A) WITET
(C) 5 (B) TN
(D) 4 (C)
Tv 156-160 : T4 TR & AHW W (D) =R
e s oo 3w Sifem
s T, AfoEE, wea, o quy | 159, WA A A dEae = e -m
e o) wetta gfd B | sftee % gE-gE d W TR
=61 T e =1 #19 E9 % 0 AR AR, W =
1 SRS B4 % wAm % Fs o (A), et R £ ="
TEATEET T o SR e A e @ | = TG ke e
. svrferam & P g9 S T A i'i‘H' :
ATRETAE % 20 A 7 UH =i ve=ea (). et #
1 % o ek efer e 0 S A e (D) et =it ot gew 3 aw st
2 | 3w wiE & wm A awE w o e e F
] | ] T w0 #1 8 F SET -3
waTEE BT § | WA WEE F TN T | qgq, o) opereenfiT B8 o w0 A =
aftmEmE e R arimm Fem A g it
166, WA eI = 3fa T Ay =
(R st (B) anffireh
(B) I = HE
(Cy =i af (C) =
(D) Ivdee OB e T (D) \Ew
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v) Test of Language : English

et gfterm ; s

Directions for Q. No. 161 - Q. No. 164 :

The classical realist theory of international
relations has long dominated both academic
institutions and the American government,
Even at tha birth of the nation, early political
thinkers, such as Alexander Hamilton,
promoted a realist view of international
relations and sought to influence the actions
ol the government based on this
parspective. While the classical realist
school of international relations s not
entirely homogeneous in nature, there are
certain premises that all classical realists
share.

The primary principle underlying classical
realizm is a concem with issues of war and
peace. Specilically, classical realists ask,
what are the causes of war and what are
the caonditions of peace? The members of
tha classical realist school mainly attribute
war and conflict to what |s termad the
security dilemma. In the absence of any
prevailing global authority, each nation is
required to address its own security needs.
Howaver, each nation’s quest for secunty
through milltary build ups, alllances, or
territorial defences necessarily unseties
other nations. These nations reac! 1o
feelings of insecurity by engaging in their
own aggressive actions, which leads other
nations to react similarfy, perpetuating the
cycle.

It is important to note that for realists, unlike
idealists or liberal internationalisis,
international conflict is a necessary
consequence of the structural anarchy that
nations find themselves in, Whereas cther
schools may see infernational conflict as
the result of evil dictators, hislorical chance,
flawed socio pofitical systems,; orignorance
of world affairs, classical realists see war
as the logical result of a system that by its
nature lacks a true central autharity.

Ax

Hand in hand with this view ol conflict as
an inevitable condition of the global power
structure Is the realists' view of the nation
as a unitary actor. Because classical
realists see intermational relations as a
continuing struggle for dominance, ihe
nation can not be viewed as a collection of
individuals with disparate wants, goals, and
ideclogies. The realist view reguires the
formulation of a national interast, which in
its simplest terms refers to the nation's
ability to survive, maintain its security, and
achieve some lavel of power relative 1o ils
competitors.

Realism is not without its cntics, many of
whom challenge the premise that war is the
natural condition of international relations
or that there can ba a truly national interest
However, the realist school of international
relations continues to shape foreign policy
because of the successes it has had in
describing real world interactions between
nations.

161. Which of the following, if true, wolid

best support the classical realist
theory of infernational conllict as it is
described in the passage 7

(A} Some countries ruled by diclalors
maintain peacelul relations with

their neighbours

(B) Despite the presence of a worid
superpower, many countries
continue to fight wars with their

neighbours,

(C} War has existed from the
baginning of recorded history.

(D} After the nations of the world form
an authortative world court, wars

decrease dramatically.

i

e

e el

W L




162,

163,

It can be inferred from the passage
that members of the classical realist
school would be LEAST likely 1o
support.

(A} adomestic policy that attempts to
unify the nations citizens behind a
COMMOn cause

an imernational policy that seeks
to reduce threats of war by
providing humanitarian aid to
potential aggressor countries

an imemational policy based on
building a strong military force to
deter threats

an international policy based on
joining a comman defence contract
with other nations

(B)

(C)

(D)

According to the passage, the formation
of a national interest serves what
function in the classical realist theory
of war and peace 7

(A) It provides the necessary
justification for the classical
realist view of a continuous
global power struggle.

Itis a convenlence used by
theorists to describe national
interests where none axist.

It is less important to the theory
than is the idea of the nation as a
unitary actor

It is the part of the theory that
recaives the most criticism from
opponents.

(B)

(C)

()

164.

165.

166,

167.

1688.
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The author most lkely regards the
classical realist theory of intermational
relations with

(A) general apathy

(B) sceptical dismissal

(C) qualified acceptance

(D) glowing approval

Find the error in following sentence :
{a) The clothes/ (b) were neatly/

{eY hanged/ (d) on the cloth stand.
(A) (&)

(B) (b)

(C) (e

(D) (d)

Find the error in following sentence :
(a) The captain / (b) along with/ (c) his
soldiers! (d) were killed in the field.
(A) (&)

(B) (b)

{C} (c)

o) d) {

Which of the following sentence has
amor ?

(A) A lotof travel delay is caused

(B} Due to the inefficiency and lack of
good management

Mo error

On behatf of the railways

]

(C)
(D)

Which of the following sentence has
arror 7

(A} Woere exorbitant

(B) | could not put up in a hotel

(C) Mo error

(D)

Because the boarding and lodging
charges




168,

170.

A=

Ordered the sentence |

S1 : Calcutta unlike othar cities kepts
its trams.

P :As a result there horrendous
congestion.

Q :It was going to be the first in
South Asia.

R :They run down the cenire of the
road.

S :To ease in the city decided to
bulld an underground railway
line.

36 : The foundation stone was laid
in 1872.

The proper sequence should be

(A) RPSQ

(B) QRSP

(C) PR30

(D} RQSP

Ordered the sentence |

S1 : Antseat worms, centipedes and
splders.

P They are usuaily much guicker
than the ant itsalf.

Q :Mevertheless, these animals do
not make gasy gama for ants.

R :Besides, they have an
extraordinary number of ways
of escaping.

S :They also eat larvase and insect
adults such as flies, moths and
spring talls.

S6 : Some jump, and some give out
a pungent repallent substance.

The proper sequence should be

(A) SPRQ

By SQPR

{C) SRQP

(y SQRP

-41-
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Directions for Q. No. 171 - Q. No. 174:

Some parts of the sentences in the passage
below are laft blank. Fill them with the bast
alternative.

The middle class has always preferred
English as a medium of schooling. Today,
even small towns and villages are (1) for
sehools in the English medium, Wherever
low-cost private English-medium schools
are availble, government and non-English
mediumn schools are facing an {2). Political
{3} aside, corporation, government and
aided schools have started (4) English-
medium sections: within their schoals In
response to this situation.

171,

(A} Demanding
(B) Desiring

(C) Clamouring
(D) Inviting

172. :
(A} the heat £

(B} an axodus
(C) the neglect -
(DY the lack of sludents

173.

(A) Story

(B) Muotivation
(C) Rhetoric

(D) Discussions

174,

(A) Building
(B) Devaloping
(C) Introducing
(D) Growing

i

— U e sl el




Directions for Q. No. 175 — Q. Ne. 178 :
Some parts of the sentences in the passage
helow are left blank. Fill them with the bast
alternativa.

in the new global economic order, the (1)
of pursuing higher education abroad in
humanities has definitely come under (2).
The phenomenal increase in tuition fees in
countries like the UK has primarity affecied
the softer (3) of humanities. Thankfully,
scholarships are quite a (4) In such cases.

178,
(A} Idea
(B) Thought
(C) Ambition
(D) Desire

176.
(&) Strain
(B) Mass
(C) Pressure
(D) Back seat

177.
(A} Streams
{B) Faculties
(C) Subjects
(D) Disciplines

178,
(A} Relaxation
(B) Breather
{C) Hope
(D) Ray

179. Synonymous of Indelible
(A) Track
(BY Revoll
{C) Enforce
(D} Parmanent

180.

181,

182,

183.

184,
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Synonymous of Hebetude
{A) Foolishness

(B) MNumbness

(C) Sharpness

(D) Intelliigence

Antonymous of Cutwit
(A) Laugh

(B8) Defeal

(C) Victory

(DY Win

A child could not have done this
mischief,

(A) This mischiefcould not be done by
a child.

{B) This mischief could not been done
by a child.

(C) This mischief could not have been
done by a child.

(D) This mischief a child could not
have been done.

James Watt discovered the engrgy of

sheam. b

(A) The energy of steam discovered
James Walt.

(B) The energy of steam was
discovered by James Watt,

(C) James Watt was discovered by the
energy of steam.

(D) James Watt had discovered
anergy by the steam.

She makes cakes evary Sunday.

(A} Ewvery Sunday cakes made by her.

(B) Cakes are made by her every
Sunday.

(C) Cakes make her every Sunday.

(D) Cakes were made by her every
Sunday.




185.

186.

187.

188.

185,

Find the wrong spelt word.
(A) Amature

(B} Manual

(C) Nephew

(D) Athletic

The conciusion of his argument, while
, is far from

(A} stimulating - interesting

(B) worthwhile - valueless

{C) esoteric - cbscure

{0} abstruse - incomprehensible

Find the wrong spait word.
(A) Boundary

(B) Exhibit

(C) Depresion

(D) Demonstration

The revolution in art has not lost its
steam; it on as fiarcely as ever.
(A} Amblas

(B) Trudges

(C) PRages

(D} Meanders

Many people at that fime believed that
spices help preserva food; however,
Hall found that many marketed spices
Were bacteria, moulds and

yeasts,

{A) teeming with
(B) devoid of
(C) destroyed by
(D) improved by

184,

191.

192,

193.

154.
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Biological clocks are of such
adaptive value to living organisms,
that we would expect most organisms
to__ them.

{A) clear —avoid

(B} meager— evolve

(C) significant — eschew
(D) obvious — possess

by nature, Jones spoke
very little even to his own family
members.
(A) Equivocal
(B) Garrulous
(C) Arrogant
(D) Taciturn

Today Wegener's theory IS
however, he died an outsider taatad
with by the sciantilic
establishment.

(A) unsupported - approval

(B) dismissed - contemptl

(C) accepted - approbation

(D) unchallenged - disdain

¢
The revolution in art has not lost its
steam; it on as fiercely as ever,
(A) trudges
(B) meandears
(C) edges
(D) rages

Each occupation has its own ___ |
bankers, lawyers and computer
professionals, for example, all use
among themselves language which
outsiders have difficulty following.
(A} merits

(B} disadvantages

{C) rewards

(O} jargon
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Directions for Q. No. 195 - Q. No. 200 :
A fundamental principle of pharmacology
is that all drugs have multiple actions.
Actions that are desirable in the treatment
of disease are considered therapeutic,
while those that are undesirable or pose
risks to the patient are called “effects.”
Adverse drug effects range from tha trivial,
e.g., nausea or dry mouth, to the senous,
e.g., massive gastrointestinal bleeding or
thromboembolism; and some drugs can be
lethal. Therafore, an effective system for the
detection of adverse drug effects is an
important component of the health care
system of any advanced nation. Much of the
research conducted on new drugs aims at
identifying the conditions of use that
maximize beneficial effects and minimize
the risk of adverse effects.

The intent of drug labelling is to reflect this
body of knowledge accurately so that
physicians can properly prescribe the drug;
or, if it is to be sold without prescription, so
that consumers can properly use the drug.

Tha current system of drug investigation in
the Unitad States has proved very useful
and accurate in identifying the common side
effects associated with new prescription
drugs. By the time a new drug is approved
by the Food and Drug Administration, its
side effects are usually well described In
the package Insert for physicians. The
investigational process, however, cannot be
countad on to detect all adverse effects
because of the relatively small number of
patients involved In premarketing studies
and the relatively short duration of the
studias.

Animal loxicology studies are, of course,

dona prior to marketing in an attempt o
identity any potential for toxicity, but

A
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negative results do not guarantea the safety
of a drug in humans, asavidenced by such
well known axamples as the birth
deformities due to thalidomide.

This recognition prompted the establishment
in many countries of programs to which
physicians report adverse drug effects. The
United States and other couniries also send
reports to an intemafional program operated
by the World Health Organization. Thesa
programs, however, are voluntary reporting
programs and are intended 1o serve a
limited goal: alerting a governmant or
private agency to adverse drug eflects
detected by physicians in the coursa of
practice. Other approaches must be used
1o confirm suspectad drug reactions and to
estimate incidence rates. These other
approaches include conducting retrospective
contral studies: for example, the studies
associating endometrial cancaer with
gstrogen use, and systematic monitoring of
hospitalized patients 1o determine the
incidence of acule common side etfects, as
typified by the Boston Collaboratiye Drug
Surveillance Program,

Thus, the overall drug surveillance system
of the United States is composed of a set ol
information bases, special studies, and
manitoring programs, each contributing in
its own way to cur knowledge about
marketed drugs. The system is decentralized
among a number of governmental units and
is not administiered as a coordinated
function. Still, it would be inappropriate at
this time to attempt to unite all of the
disparale elements into a comprehansive
surveiliance program. Instead, the challange
Is to improve sach segment of the system
and fo take advantage of new computer
strategies to improve coordination and
communication.




195. The author is primarily concerned with

discussing

(A) theimportance of having accurate
information about the effects of
drugs

(B) methods for testing the effects of
new drugs on humans

(C) procedures lor determining the
long-term effects of new drugs

(O} attempts to curb the abuse of
prescription drugs

196. The author implies that a drug with

adverse side effects

(A} will not be approved lor use by
consumers without a doctor's
prescription

(B) mustwait for approval until lengthy
studies prove the effects are not
parmanant

(C) should be used only if its
therapeutic value outwelighs iis
adverse effects

(D}  should be withdrawn from the
marketplace pending a
govemment investigation

197, Which of the following can be inferred

from the given passage 7

(A) A centralized drug oversight
tunction would improve public
heatth.

(B) Most physicians are not aware
that prescription drugs have side
effects.

(C) Some rare adverse drug effects
are not discovered during the
limitad tasting.

(D) Consumers are seidom unable to

understand directions for proper
use of a drug.
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198. The author introduces the example of

thalidomide to show that some

(A) drug testing procedures are
ignored by careless laboratory
workars

(B) drugs do not have the same
actions in humans that they do in
animals

(C) drugs have no therapeutic value for

* humans

(D) drugs are prescribed by physicians

who have not read the manufachurer’s
recommendalions '

199, The author of the passage regards

current drug investigation procedures as

(A) important but generally ineffectual

(B} lackadaisical and generally In
need of improvement

(CY comprehensive but generally
unnecessary

(D) necessary and generally aﬂicthfe

200. The author Is most probably leading
up to a discussion of some
suggestions about how fo
(A) centralize authority for drug
surveillance among international
agencies

(B) centralize authority for drug
surveilianee in the United States

(C) coordinate beller the sharing of
information among the drug
surveillance agencies

(D) improve drug testing procedures to
detect dangerous effects belore
drugs are approved
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IMPORTANT INSTRUCTIONS TO CANDIDATES

serfteamt & e wewargut st

This booklet contains 48 pages,

Please check all the pages of the Booklsl
carefully. In case of any defect, please ask
(he Invigitator for reptacement of the Baokiet
Directions . Each guestion or incompiete
statement is followed by four alternative
sugoesied answers of completions. In each
case, you are required fo salect the ana that
correctly answers the guastion or completes
the staterment and biacken (@) appropriate
cirgla A, B, C or D by BlueBiack Bal-Point Pen
against the question concerned in the
Answer-Shesl. (For V.H. candidates
corresponding circle will be blackenad
by the scribe)

. Mark your answar by shading the

approgriaie
circle sgainst each question. The clrcle should
b shaded completely withold kaving any spacs.
The cosrect method of shading ks given bolow.

[im-;-.um P Hvr.nm;w Cimtie] Mapoa
lc@oolo@oniosnd

Ceoo|

The Candidate must mark his/her raspanse
alter careful consideration.

There s only one corrsct answer to aach
guastion. You should blacken (@) the circle
ol the approprinte column, viz., A, B, Cor D,
if you blackan (@) mora than one circle
agalnst any one question, the answer will be
tradted as wrong, |1 you wish to cancel any
arswar, you should compisiely ermse that black
mark in the circla in The Answar-Sheetl, and
than backen the cicle of revised response.

. A maching will raad the coded information

in the OMRA Answer-Sheel. In case the
information i incomplete’diffarent from the
infarmation given in the application form, the
eandidature ol such candidate will be treaied
as cancellad.

., Use the space for rough work given in the

Cuastion Booklet only and nol on the
Answear-Shaal,

. ¥Wou are NOT reguired to mark your answers

in this Booklel. All answers must be
indicated in the Answer-Zheet only.
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16.

17,
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